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291594253401,

h of the following are considered as key behaviours of effective teaching as evident
researches ?

Structuring through comments made for organizing what is to come.

Asking process or content based questions.

Lesson clarity implying the extent, to which teacher’s presentation is clear to the class.
Using student ideas and contributions while the teacher is presenting the subject.
Instructional variety involving teacher’s variability and flexibility during presentation.

Student success rate implying the rate at which students understand and correctly
complete the exercises.

(a), (b) and (c)

91394353402, (c), (e) and (f)

2153942534035,

91334553404,

(b), (c) and (d)

(a), (c) and (f)
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(b), (c) 3R (d)

91334553403,

(a), (c) 3R (f)
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Below are given the characteristic features of formative and summative assessment procedures
used in various teaching-learning contexts.

(a) Itis used for judging learning standard.

(b) It is used for improvement of capacity and quality.

(c) Its use is extended to performance appraisal of teachers, students and institutions.
(d) Itis used during instruction.

(e) Assessment is formal and post instructional in nature.

(f)  Itis based on participation of both teacher and student.

Which of the given codes relate to formative procedures ?

Code :
Options :

(a), (b) and (c)

91334553405,

(b), (c) and (d)

91394353406,
91394353407, (a), (c) and (e)

(b), (d) and (f)

91334553408,
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91334553405,

91394353406, (b), ()

(a), (c) 3T (e)
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(b), (d) 3R (f)
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Question Number : 3 Question Id : 91394313590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the two sets given below, Set-I embodies the domain of “teaching competencies” while
Set-1I provides the specific competencies which make a teacher effective. Match the two
sets and select appropriate code.

Set-1 Set-11
(Domain of teaching competencies) (Specific competencies)
(a) Personality and attitude related (i) Dynamism and flexibility

competencies

(b) Behavioural competencies Subject and general knowledge

=

(c) Substantive competencies iii) Good physique and appearance

(d) Style related competencies iv) Self efficacy and locus of control

S

v) Teaching and managing
Code :
(@) (b) (o) (d)

Options :
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91394353410
91394353411, () () (iv) (V)

(i) () (@) (V)

913394553412,
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In which of the modalities of teaching-learning arrangements there is more scope for critical
and creative interchange ?



Options :

'l'raining Se$s10N
91394353413,

Conditionineg to promote sensitiviky
91394353414, 50Pp Ly

Instructional presentations involving scope for information processing
91394353415 " =

Dialoeic presentations involvine teachers, students and the content
91394353416 o O

Question Number : 4 Question Id : 91394313591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Toreror-sferma sqaen #1 fFg Yol § THieicAs q91 GorHTcHes AGH-YSH i A4 ey 2
Options :

gioTeror 93

9133455341Z.

YequTEal UIedre oq STTa A

91334553414,

o 1m0umen e TN WSRHOT SRl S T el SIS FEfaal

0120435541 191815, TaEnedt wd fawz-a%g diHi o1 THIEd i arell ae-9%e F&gfadl

Question Number : 5 Question Id : 91394313592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following specify the factors affecting teaching. For your answer select from
the code given below :

(a)  Availability of teaching aids and their use

(b)  School-community linkages

(c) Interest of parents in the school programmes

(d) Subject-knowledge of the teacher

(e) Frequency of organizing co-curricular activities

(fy  Verbal and non-verbal communication skills of the teacher
Code :

Options :

91394353417, (d), (e) and (f)

(@), (d) and (f)

2915334253415,
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(b), (c) I (e)

21394253420,
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In the two sets given below, Set-I embodies the list of research types while Set-II provides
their nature and characteristics. Match the two sets and give vour answer from the code

which follows :
Set-1
(Research types)

(a) Experimental research (1)
(b) Exports facts research (ii)
(c) Participant observation (iii)

based research

(d) Grounded theory approach (iv)
based research

Code :
(a) (b) (o) (d)

Options :
91394353421, (1) (i) (i) (iv)

91394353422, (i) (i) (iv) (V)

91394353423, (i) (1)  (iv) (i)

91334553424,

Set-11
(Nature and characteristics)

Generalizations follow rather than precede the
observations in due course

Emphasizing the access to reality by sharing
the perspectives of people

Getting at causal facts by retrospective
analysis

Describing the status and conditions as
obtainable

Controlling the extraneous variables and
observing the effect of independent variable

manipulated by the researcher on dependent
variable

Question Number : 6 Question Id : 91394313593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Which of the following implies the correct sequence in an action research paradigm ?

Options :

91334553425,

B133455342ZE.

91334553427,

91334553428.

Act, reflect, plan and observe
Observe, reflect, plan and act
Plan, act, observe and reflect

Reflect, act, observe and plan
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The issue of research ethics is pertinent at which of the following stages of research ?

Options :

ificatio Initio imitation of researc b
150435340 LdeNtification, definition and delimitation of research problem

1304355450, Defining the population, sampling procedures and techniques

Jata collectio 1 analysis « wrtine of research findings /results
o130455a45; LAta collection, data analysis and reporting of research findings/results

91394353435, Deciding the quantitative or qualitative tracks or both for pursuing the research problem
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In which of the following, target related specifications will be considered necessary ?
Options :

Seminars
91394353433,

Conferences
91394353434,

E r -!. 1‘._“
91394353435, Symposium

AT e i
41394353438, Workshops
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91334553436,
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In which of the following research methods the emphasis is laid on naturalistic settings and
meaning-giving processes ?

Options :

Experimental method
91394353437,

spseusssage DX post facto methiod

Case studv method
91394353439 .
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Read the following passage carefully and answer question numbers from 11 to 15 :

It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘"nonsensical” since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denying that rationality demands that you must act
single-mindedly according to your own goals. You do not necessarily dedicate yourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about vour choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being.

Sub questions
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The observation of Adam Smith in going beyond self-serving interest is :
Options :

- ¥
ne’s own goals
150435544 11AVING ONE’s own goals

tivations like justic bublic spiri
o150435344, MoOtivations like justice and public spirit

Issues contrary to reasons.
91334553443, £

T= " o T " " . " i
1504353444 VViINgNess to do different things
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Nonsensical
91394353445,

Natural
91394353446,

Altruistic
91394353447,

Rational
91394353448,
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According to the passage, decent rules of behaviour are needed :
Options :

1394353440 DecCause of self-imposed restraints

To be rational
91394353450.

For being fair to others
91394353451,

Due to dominance of our own eoals
91394353452, 4 et : e
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What can stand in the way of single-minded pursuit of one’s goals ?

Options :
Giving priority to our own goals

91394353453 &P ty B

Compulsion to consider the goals of others
91394353454, ?

L-. = } L. L-.‘ 8 L_| ] i " e
91304353455, Respect for sensible rules of conduct

> . I - 10 2 . -
D 8
a130435345¢ L ursuit of paradoxical parameters
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The moral derived from the passage is :



Options :

Pro-active move to support others
91394353457

Not to think of our neighbour
91394353458,

Force people to take on the other people’s goals as their own
91394353459,

Assist your neighbours to engage in any activity of their choice
91394353460, ‘ : ?
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Question Number : 16 Question Id : 91394313604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T'o communicate effectively with students, teachers should use :
(a) Affinity-seeking strategies

(b) Immediacy behaviours

(c) Humour

(d) Collaborative filters

Choose most appropriate code :

Options :



(a) and (b) only

H13345534E1.

(a), (c) and (d)

91334553462,

91394353463, (a) and (d) only

b) and (c)

sraass W |

Question Number : 16 Question Id : 91394313604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B & 1Y YTet 7 J Y & foAu f1eqehi &1 fmdeh 399rT &3] =1Meu 2
(a) THeRearwes ToHIfGEr

(b) dTchITcIsh AI8R

(c) TE™

(d) wfagm-snafa satEr

Options :

FAA (a) 3R (b)

91334553461,

c) 3R (d)

sragumsais @

FAdA (a) AR (d)

91334553463,

(a), (b) 3R ()

291334553464,

Question Number : 17 Question Id : 91394313605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Internal cues of non-verbal behaviour in the classroom help diagnose :
Options :

- - -.. L-. -.‘ - T = s --.L-.
a15043534es INtEr-personal dynamics

= ; ; Bicicso
S — ‘::patta[ [_I‘[.‘!X[ﬂ’ldtlli]l“.l



Mass beliefs
91394353467.

Student movement
91394253468,

Question Number : 17 Question Id : 91394313605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Feql | 3TMfsgeh S9aeRr & 3Tidie Hahde fhgs e ¥ Femd 3d €2

Options :

91394353465
91394353466, T HH
51394353467, 11 oAeAS AT
91394353468, OV RIGIEIE!

Question Number : 18 Question Id : 91394313606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) : Classroom communication behaviours imply making the contents relevant.

Reason (R) : [tis none of the functions of teachers to make students organise information
for effective interaction.
Code :
Options :
a1394353450 DOt (A) and (R) are true.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394353470
A) is true, but (R) is false.
91394353471, (A) ! (R) is fe
A) is false, but (R) is true.
51394353470, (A) 18 false, (R)

Question Number : 18 Question Id : 91394313606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ATTRYT (A):  Tawasg 1 wrEfie 9 FHefmTd geme SAder § fHfed g1
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Options :

(A) 3 (R) I T F

91334553469

(A) 3R (R) THI & &, oIl (R), (A) 1 Hel ST T2 € |

9153394253470,

(A) TE B, AR (R) T €

212394253471

(A) 7T €, W (R) Hel ¥

91334553472

Question Number : 19 Question Id : 91394313607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Communication variables involved in a model of performance are :

(a) Encoding
(b) Decoding

(c) Passive resistance
(d) Channelisation
(e) Indifference

Select the correct option from the code given below :

Options :

(a), (b), (c) and (e) only

2153342534735,

b), (¢), (d) and (e) only

215394253474 (

(a), (c) and (d) only

915334253475,

1504353476 (@), (b) and (d) only

Question Number : 19 Question Id : 91394313607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ot FrodTe W™ & Sfavia T9eY =7 21 © ¢
(a) Fe Heha

(b) Taderda

(c) Tafesra gfcay
( .

(

d) H=RU
e) IR
== fou U 2 § 9 W@ I 1 g

He (a), (b), (c) 3R (e)

91334553473,

FAA (b), (c), (d) 3 (e)

2915394253474

FIA (a), () 3R (d)

91334553475,

FAA (a), (b) 3 (d)

91334553476,

Question Number : 20 Question Id : 91394313608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In pre-learning preparation, an important stage of communication is :

Options :

Information acquisition and its processine
91394353477, UL LR o 2o O

-, " ﬂl.": - ] " 3 "
O lconisation of encoder

lonorime semantic noise
91394353479, O o -

‘i 1o syack
W—— Conditioned feedback

Question Number : 20 Question Id : 91394313608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST AT | TEY %1 T Tedgu =l © :

Options :



=T SASH LT SHHT T AT

91334553477,

91394352478, %—d ] <l ﬂ h{
31 fauaes soped % ufd 3qem

91334553475,

B91334553480. i Hd .3

Question Number : 21 Question Id : 91394313609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the sequence of numbers 1, 2, 6, 33, 49, 174, 210, x, . . . . .. , the term x is :

Options :

-

91334553451,
9133455345%2.
91334553453,

91394353424,

Question Number : 21 Question Id : 91394313609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
q& ATFEH 1, 2, 6, 33,49, 174,210, x, . . . . .. ,H EHE=H y R HE T

Options :

444

91334553451,

0

1
o

H91334553482.

510

9153342534835,

91334553454,

Question Number : 22 Question Id : 91394313610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



H'R+é:1 mul5+%:],Umm'Rx5xT=

Options :

=3
91394353485,

2
291394253486,

-2
91394353487,

1
291394253488,

Question Number : 22 Question Id : 91394313610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1 e A : .
g R+—=1 dA S+—=1 &, d RxSxT=
S £
Options :
91394353485, 1
)
91394353486,
—D
91594353487 "
1
91394353488,

Question Number : 23 Question Id : 91394313611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A woman introduces a man as the son of the brother of her mother. How is the man related
to the woman ?

Options :

91334353450, LNClE

Grandson
91394353490,

Son
91394353491



Cousin
91394353492

Question Number : 23 Question Id : 91394313611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
s Higa fRHl J&Y 1 9R=3 <d §U Fedl © (oh 98 S9! HIdl & Y78 & 93 ¢ | 39 Hiea &1 759 9
11 frean €2

Options :

H91334553489.

el

91334553430,

912334553491, i<l

E ~
2915334253492, %:"3

Question Number : 24 Question Id : 91394313612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Before death a man left the following instructions for his fortune : half to his wife; 7 of what

7

)
was left to his son; 3 of what was left to his daughter; the man’s pet dog got the remaining

< 20000. How much money did the man leave behind altogether ?

Options :

91394353453 X 140000

< 100000
91394353494,

a1394353405, « 20000

91394353406 < /0000

Question Number : 24 Question Id : 91394313612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Y] & Jd Ush =Afed 37041 Hufd & 9 H f=faf@d Sew Srgwan ;. 79+ I sl 7191, 9= 99 6
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Options :

— o0

< 100000

913345534394,

913345534355, < 40000

< 70000

2915334253456,

Question Number : 25 Question Id : 91394313613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If 7, 13, 2, 14, 6 1s to flame, then 3, 13, 16, 2, 21 is to :
Options :

IO
a1394353407, ¥ OICE

Blade
91394353498,

Bloat
91394353499,

¥
91334553500, Blown

Question Number : 25 Question Id : 91394313613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
afg 7,13, 2, 14, 6 =1 Flame &8l S, d1 3, 13, 16, 2, 21 <kl 341 gl ST ?

Options :

)1C
91394353407 ¥ O1CE

Blade
91394353498,

Bloat
91394353499,



Blown
91394353500,

Question Number : 26 Question Id : 91394313614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Every law is an evil, for every law is an infraction of liberty".

The above is:
Options :

An argument
91394353501

An explanation of facts
91394353502,

A justification of beliefs
91394353503,

A proposition of facts
91394353504,

Question Number : 26 Question Id : 91394313614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘UF HA T JUE ¢, Hifh Yedeh T dsdl &1 Seaidd &

ST € :

Options :

T 9T

291394253501

* [a
91334553502, ‘ﬁ?ﬁ &l

91334553503, T <l Hl 4

AT T T

91334553504

Question Number : 27 Question Id : 91394313615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following propositions (a, b, ¢ and d) two are related in such a way that both of
them together cannot be false although they may both be true. Select the code that states
those two propositions.

(a) All students are intelligent.
(b)  Some students are intelligent.
(c) No students are intelligent.

(d) Some students are not intelligent.

Code :
Options :

(a) and (b)

21394253505,

(b) and (c)

91334553506,

(c) and (d)

91334553507,

(b) and (d)

2915334253508,

Question Number : 27 Question Id : 91394313615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AMTFHE (a, b, c U1 d) T & & AfyFe 30 YR He&ifed € fF 370 9 1t Wy 4 7o 78 2
Hehd MY T |1 & Wl & Tohd & | 3 a1 SATIHIA] 1 T aTe] Fel e 1 =97 FHiford |

(a) Gt foeneff gigwm 2 €1
b) F ot gfgam 2 €
(c) RIS i fa=mefi gfgam == 2 |
(d) F fa=neft gfgum 781 2@ g1

Options :

(a) 3R (b)

91394353506, (b) S (©)
(c) ST (d)

91334553505,

91334553507,



(b) 3R (d)

91334553508,

Question Number : 28 Question Id : 91394313616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are an Assertion (A) and a Reason (R). Consider them and select the correct
code given below :

Assertion (A) : Honesty is a great virtue.

Reason (R) : Honesty does not harm anybody.
Code :

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394353509,

o1504353510, DO (A) and (R) are true, but (R) is not the correct explanation of (A).

91594353511 (A) is true and (R) is false.

(R) is true and (A) is false.
91394353512,

Question Number : 28 Question Id : 91394313616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FrAfafEa afused (A) 991 9a (R) R =R Fifee 3R = [l ™ 2 9 928 3 M
ATUHST (A) :  SHMGRI TF 92 U & |

& (R) : aFSRT | ToRet =61 =t 721 2 |

h<

Options :

a1394353500. (A) R (R) AT Tl € 3R (R), (A) 1 el e 2 |

(A) 3R (R) F1 92 €, W (R), (A) T T& A=A 8 ¢ |

91334353510,

91394353511, (A) T 7 3R (R) TTerd 2 |
(R) ¥ 2 3R (A) TTerd 2|

91334553512

Question Number : 29 Question Id : 91394313617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When the conclusion of an argument follows from its premises necessarily, the argument is
called :
Options :

Circular argument
91394353513,

Analogical argument
91394353514,

- - - T
A — Inductive cug)ument

Deductive argument
91394353516,

Question Number : 29 Question Id : 91394313617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

9 H1E TRy fHdl AR 99 & 96 9 3ifHardd; fFeddr 8, 9 98 Fad @

Options :

91394353513, 20 NN R

91394353514, eI dm

T r
91334553515, SITHAIHS d

a139435351g |V IAICHS dh

Question Number : 30 Question Id : 91394313618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two premises (i) and (ii). Four conclusions are drawn from them (taking
singly or together).
Premises : (i)  Some prisoners are dacoits.

(i) Some dacoits are murderers.
Conclusions :
Some prisoners are murderers.
All prisoners are murderers.
c) Some dacoits are prisoners.

(d) Some murderers are dacoits.
Select the code that states the validly drawn conclusions :
Code :
Options :



91394353517 Only (a) and (d)

Only (b) and (c)

91334553518,

Only (c) and (d)

91334553519,

Only (b) and (d)

91334553520,

Question Number : 30 Question Id : 91394313618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1 1 SR A (i) SR (i) Tow T €1 3 S SR areE | =R e freRel T E (3ot I S
®IH) |

IMAT AT : () FO hal SH A L |
(i) TS SF TAL T € |

e -

FS Fal TAR B T |

[t et TN 2 B

) FOTFH I T E

d FSTENLSTF LI
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Options :

FIA (a) 3R (d)
Fad (b) 3R (c)

91334553517,

91334553518,

FId (c) 3N (d)

2915394253519,

91394353520, L (b) 3R (d)

Sub-Section Number: 4
Sub-Section Id: 913943687
Question Shuffling Allowed : Yes

Question Id : 91394313619 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (31 to 35)
Juestion Label - Comprehension

The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.

Based on the table, answer the questions that follow (Questions 31-35) :

Percentage of students facultywise
Name of the Faculty Percentage (%) of Students
Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%

Sub questions

Question Number : 31 Question Id : 91394313620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of male students exceeding female students is :

Options :

1400

2915334253521,

4380

91334553522,

1680

21594253525,

800
91394353524,

Question Number : 32 Question Id : 91394313621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Approximately, how many female students are there in the faculty of Performing Arts if the
proportion of males and females is the same for this faculty as for the whole University ?

Options :

2560
91394353525,

1610
91394353526,



14C
91334553527, 1498

2678
91394353528,

Question Number : 33 Question Id : 91394313622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If half of the students from the faculty of Education and all of the students from the faculty
of Social Sciences are females, then the number of female students in the three remaining
faculties altogether will be :

Options :

1240
91394353529

680
91394353530,

960
91394353531

540
91394353532,

Question Number : 34 Question Id : 91394313623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Supposing, the number available in the faculty of Engineering doubles keeping the total
number in the University to be the same by reducing the student numbers in faculty of
Performing Arts and faculty of Education equally, the number of students available in the
faculty of Education will be :

Options :

91394353533,

91334553534,

2680
91394353535

2960
91394353536,

Question Number : 35 Question Id : 91394313624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference in the number of students enrolled in the faculty of Science as compared to
the number of students enrolled in the faculty of Engineering, is :

Options :



1180
91394353537,

"') /
91334553535, 2040

960
91394353539

1080
91394353540,

Question Id : 91394313619 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ

Tafafad aifes o fodl favafaarea § e siH are fafvy= faui § Amifea faanfoi =1 gfaea
e T % Tavafaenerg # faenfeai i $e1 @ 12000 €, 2798 9 52% 59 991 319 AieA € |
39 A & YR W, F=faiea (999 31-35 ) &1 3 ifed

fawg-ar faenfd=i =1 afaem
faog =1 W Terenfelai <1 wfaem (%)
fasm 17%
foren 30%
ESIGE R 8%
T el 26 %
S faam 19%

Sub questions

Question Number : 31 Question Id : 91394313620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

ﬁ?ﬂﬁ@ﬁﬂﬁﬂ%ﬁﬁ@ﬁ?ﬁl%ﬁ&ﬂ&ﬂ%ﬁ@fwaﬁmﬁﬁﬁaﬁ%%?

1400
91394353521

480
91394353522

1680
91394353523

800
91394353524



Question Number : 32 Question Id : 91394313621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

favafaerea # wevH Fon fawa & afeen faenfei =t g e feat ¢ afe zq fava § == 5oy
qe g fante=i &1 STud JurE 8l ?

Options :

2560
91394353525

1610
91394353526,

1498
91394353527,

2678
91394353528

Question Number : 33 Question Id : 91394313622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ife foren fawa & =19 faenef qen e fagm fawa & gt famnet gfzard 2, 5 S &= faw o
F o1 Afeen foaneff €2

Options :

1240
H91334553529. 124(

680

91334553520,

960
91394353531

o040

9153342535352,

Question Number : 34 Question Id : 91394313623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A ciferd fof genfradt fawa & foanferi =it Sen g &1 9 § adn geei= o qun fen fawei |
T He@ | faenfdi &1 9e § Ferdl wid gy favafaened & faenfudi 1 Fa Sen suiatda
Tedl &, a1 Toven fawe o faenfedi =i Sucrsa 9&m 2 :

Options :

3125
91394353535,

3120
91394353534,



2680
91394353535

2960
91394353536,

Question Number : 35 Question Id : 91394313624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Feitfardt fawg § Amifea faenfe=i =1 den &t go 4 fagm faua § amifed faenfEi = den §
HWE :

Options :
1180
91394353537,
2040
21394253538,
960
91394353539,
1080
291394253540, 1[ 8[
Sub-Section Number: 5
Sub-Section Id: 913943688
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394313625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following pairs least matches in respect of computers ?

Options :

91394353541 1 MegabByte : (1024) < (1024) X (8) Bits

91594553545 HTTPS : Hypertext Transfer Protocol Standard
WWW : World Wide Web

91394353543,

T b : Portable Document Format

Question Number : 36 Question Id : 91394313625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fefafad § 9 ®E-91 70 FP22L & H99 § Ae9qy €9 § o Gl ¢ 2
Options :

81394353541, 1 TN : (1024) x (1024) % (8) ﬁs]?_:y

ek R e | s S ERICHE T YIehd WSS

91334553542,

spagiEsas A aE R dce 915 949
Rl . UiEe et we

2915394253544,

Question Number : 37 Question Id : 91394313626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which piece of the computer hardware is known as the “brain” of the computer and is
responsible for processing instructions ?

Options :

CPU
91394353545,

" £
spgrgnnEay MO therboard

ROM

2915334253547,

RAM

91334553548,

Question Number : 37 Question Id : 91394313626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FI TSI F [T I o T & HiEqsh ' o A1 F 1 ST © 3R ST o1 HHIed &
& foru Saeer &2

Options :

1417,

291594253545,

HaLEre

91334553546,

3. 3.1,

H91334553547.

91334553548, aq-r{‘qu:q



Question Number : 38 Question Id : 91394313627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which option would complete the following sentences about digital communication system

by using the words - short/long, low/high ?

Bluetooth is a range wireless technology. It is used to connect devices together
for data transfer. Bluetooth is a cost means of data transfer.
Options :

long, low
91394353549, ©F

short, low
91394353550,

LY 1or
91394253551, [L Ilb, hl‘:’h-

short, high
91394353552,
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[ 1 fased fefSed S=R yome & s | frefated sl §-ag)/ @6, 4/ 359-7% W1 & 3%
I FHM ?

Y Th IS ATl aERerd iRl €1 39! Sidhel & Satu H SR hl U 91y
Sired & fou ST fofa <1 €1 &2y SAishel o SHaiul i AT 9Tl ek 919 B
Options :

91394352549, '

9194353550 3‘

91394353551, .

oy, 3=
91394353552

Question Number : 39 Question Id : 91394313628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Computer data files that are included with an email message are often referred to as :
Options :

“arbon copy
91594353555, (_E“LLL A et [-}



Attachments
91394353554

Spam mails
91394353555,

Cookies
91394353556,
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TS GS91 o |1 WA 1 S STl Pl Ued el &1 (9 &9 § Hefdd foan s g2

Options :

b 7

91334553553,

3TeaH=2Y

91334553554, ™

91394353555, SRR
91394353556, TSl

Question Number : 40 Question Id : 91394313629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Read the following spreadsheet (MS-EXCEL) :

EXCEL Spreadsheet

A B C
10 16

2 20

3 8

4 12

5 0

The equation in cell B2is =A2+$B $ 1.

The equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B3 ?

Options :
56
91942353557,

24
91394353558



91334553559, 44

D6
91394353560,
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fr=fafEa Sesie (1™ -t ) =i qfen :

T Seie
A B i
10 16

2 20

3 8

4 12

5 0

Tl B2 o1 THIFT & =A2+$ B $ 1.

THF o1E 39 HHIEHIUT ] 4l {1 ST & 37X B3, B4 3T B5 H U2 & fear a1 &1 B3 o1 9H =01
TR ?

Options :

91394353557,

91394353558,

91334553559, 44

56

21594253560,

Question Number : 41 Question Id : 91394313630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The two major processes involved in the carbon cycle are :

Options :

Deposition and erosion
91394353561

vatorabon : anspirabio
— Evaporation and transpiration

Photosynthesis and respiration
91394353563, ’



41294353564 Fixation and denitrification
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W%ﬁﬁﬁﬁ@ﬁﬁﬁ#ﬁ —H7 <1 Y@ UiHATE SN § 2

Options :

39S 1 STHT Bl

91334553561,

TR0 9T WEed

2915394253562,

YRT9] GYeTqo del 99+

91334553563,

IERGRIGRIRERIEHETY

2915394253564,

Question Number : 42 Question Id : 91394313631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Human populations have historically settled in flood plains due to which of the following
. .7

reasons

(a) Flood plains are close to rivers for transportation.
(b)  The soils in the flood plains are usually fertile.

(c)  The terrain in flood plains is found as flat.

Select the correct answer from the code given below :

Options :

(a) only
91394353565, '

(a) and (b) only

91334553566,

(b) and (c) only

H1334553567.

(a), (b) and (c)

91334553568,
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Correct Marks : 2 Wrong Marks : 0



UfoRtaes gfte | Are §YEd d1¢ siertad & § freifea § 9 fhe s 9 senfad g3 €7
(a) ®E ATENfad &3 9fteed &g Afedi & fehe 2 2

(b) @G ATEAad & | THS! JH=Ia: 39% el ¢ |

(c) g SATelfad &5 H Y1 J91e 9 2Id & |

= o8 T F2 1 =T FfAC q° I S S ¢

Options :
Had (a)

91334553565,

FAd (a) A (b)

91334553566,

FId (b) 3R ()

91334553567,

(a), (b) R (c)

91334553565,

Question Number : 43 Question Id : 91394313632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following methods would be most appropriate in reducing acid rain and acid
deposition problems ?

Options :

Adding lime to the acidic lakes
91394353569,

Cing, se of fossi 5
91394353570 Reducing the use of fossil fuels

b 1 AT 1o - 5
IO MLO )] -resls P
1504355571 L rOMoOtion of acid-resistant crops

Increasing the height of smokestacks
91394353572, 2 /
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37T N AU v ST Get gueei § wH o & ford e 9 Fe-d fafy geifues o 22
Options :
HEATY Al § A1 STerl

91334553569,

STETed S99 6 SYAM H o1 Al

2915334253570,



SFA-HT HHeA 3 Rl sTGrel <1

91334553571,

Yy el =1 3= =g

91334553572,

Question Number : 44 Question Id : 91394313633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) : Mapping of landslide prone areas and construction of houses, felling of

trees and grazing in landslide prone areas should be prohibited.

Reason (R) : Afforestation in the vulnerable areas is an effective way of durable landslides
control.

Choose the correct code :
Options :

0139435357 DOth (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394353574,

91594353575 (A) is true and (R) is false.

91594353576 (A) is false and (R) is true.

Question Number : 44 Question Id : 91394313633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ATUHT (A) : Y- - Yav &5 &1 Tafgd fF3 S 9o 7o 9@ 9IH, U2 %12 91 @
JEFAT-9a0T &30 H I b1 = S 1 gique foman s =ifed |

& (R) : sferd &l § a9 U fears o-Taed e 30 2

& e 94
ptions : (A) 3R (R) SH 9&T € 311 (R), (A) FT 9l =AW €

215942535735,

s ) 3R (R) SAI T& &, A (R), (A) T T2 SARAT Tl S |

(A) F&l €, wfeh (R) 7Toid ¢ |

21394253575,

91394353576, (A) eI €, TifehA (R) Wl 2
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Which of the following best describes the mechanism of the greenhouse effect in earth’s
atmosphere ?

Options :

~osmic iatio ) space is absorbed by gases i atmosp :
o13045535,, —osmic radiation from the space is absorbed by gases in the atmosphere

e Ultraviolet radiation from the sun is absorbed by Ozone layer in the stratosphere.

Ty Infrared radiation from earth’s surface is absorbed by gases in the atmosphere.

Gamma radiation from the sun is absorbed at ground level by dust particles in the
21394353580, Atmosphere.

Question Number : 45 Question Id : 91394313634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefaiad § 9 sF Yedi & agHed § HH-2=39 99E &1 TRarfars s qaiiee SugE e § T
7?7

Options :

SR F AT e faferor 1 aryHed i T STaeiid i ¢ |

91394553577,

T4 g 3T Tl T-STH fafhior &1 SeaqHed | SATSH SEid S ¢ |

91394353578,

gedl i Tag 9 fatad fafeo &1 agred § 19 STaviivd Hidl ¢ |

B91334553579.

91394353580, @@WWWWﬁWﬁ%WHﬁEﬂﬁWW{ ST oLl © |

Question Number : 46 Question Id : 91394313635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
For pursuing a Ph.D. programme through our University system, what has become a
mandatary provision now ?

Options :

Enrolment for Ph.D.
91394353581,

" .’ l. s .. -
— Course work

H )] MUSOTV ¢ e w r g
1504353555 cOMpulsory attendance for three years

Guidance from a supervisor outside the University
91394353584, J
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AN favafaanre qume! o "9 § WU Sl FFEEE & FTE0 & fau 379 HH-91 Th e

YrEHE = T3 8 2
Options :

91394353581, qie=. €l & AT gsfiem
91394353582, fafed area
a1 99 aeh Afard Ui

91334553583,

01204555554 TALATIEAT H @ & THd&H H A

Question Number : 47 Question Id : 91394313636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the following two sets, Set-I mentions an apex level institution in India while Set-II indicates
their formal concerns. Match the two sets and give your answer from the code.

Set-1 Set-11
(Apex level Institution) (Formal concerns)

(a) University Grants Commission (i)  Adjudication of legal matters in education

(b)  All India Council of (i) Coordination, recognition and quality issues
Technical Education related to teacher education institutions

(c) National Council of (iii) Coordination and quality maintenance in
Teacher Education institutions of higher education

(d) National Assessment and (iv) Recognition and quality issues in technical
Accreditation Council institutions

(v) Evaluation of quality and determining grade
of excellence

Code :
(a) (b) (o) (d)

Options :

91394353585, (i) (iv) (1) (V)
1) @) (i) (i)
(v) (iv) (i) (i)

91334553586,

21594253587,

(i) () (@) (i)

91334553588,
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frefafad < ag==4i § aq=ea-1 H§ 9N &1 ¥ WHg 951 # 3e0d ¢, Seih ageaa-1l |
I ATETE TUFHRI F1 TG 621 T T 2 SH G=aAl %1 GHfAd Fited 3R F2 H I ST
ESLEEIE L

qq=ed-1 A=E-11
( 9iTe T wee ) ( Siraenties W )
(a) Torvafaamer seE WM (i) Toem o fafees et = sifuforeE
(b) SAfEe WA dehetenl foreq ofteg (i)  Toreser foren weensdi § Hefyd @<=, 9= a9
T[OTe o Y
(c) UTA e foen uftug (iii) 3=9 Tonen Heensdi 4 Wu-=g a1 YorE] STET

(d) TEE GoFiFA a1 GoATd UREE. (iv) Rl Heenstl | Tl SiR e o T
(v)  T[UTerd o1 Hedish a9l 3ahtedl o U< o YR

?11394%53585. (u) () (W) (v)
91394353586, (1) (i) (i) (iv)
91394353587, (v) (v) (uD) (i)

91394353588, (i) (i) (1) (iv)
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Below are given two sets- Set-I provides stages of value development while Set-1I indicates
their critical features from the point of view of value education. Match the two sets and
choose your answer from the code :

Set-1 Set-11

(Stages of value development) (Critical features in terms of value education)
(a) Value collection (i) Providing opportunity for imitation
(b)  Value assessment (i) Characterization through integration of values
(c) Value clarification (iii) Providing hints for inner evaluation
(d) Value consolidation (iv) Exposure to other values

(v)  Discussions and debates

Code :

(@) (b) () (d)
Options :

B1334553589. (I) (II) (LLI'.) (IV)

(i) @) (@) (V)

91334553530,

srssassase ) Q) (1) (1)

91334553582, (II_[) (l) (LI'.) (V)
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= 21 wg=g fou U ¥ - ugeea-1 § g faed & 9w fou T E Sefe ageea-1 § S
ey fasmarsii 1 2a fofan o €1 39 S Il 1 gHfad Hifere a1 F2 H H 310 IW
EALE

qq=a-1 =g -11
(g faerTa o =roT) ( ge= fora =it gfte | wgeyqul favreamd )

(a) HTA W (i
(b) HoH A (i) eI *F UHIHIO & q=Aq H =T
(c) YI TR (iii) AR Gedish Bq Hehd S T
(d) oI gIerwo (iv) 3= gedi & Uid AFqEieR

(v) oft==i 99 sey

STHLO B ITTH YA LAl

Options :



91394353589, (1) @) (@) (iv)

91334553530,

91334553591, (1) (I.LI'.) (IV) (L[)

913345535392,
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Correct Marks : 2 Wrong Marks : 0
In the institutions of higher education in India which of the following has the formal authority
to approve the courses and programmes of studies ?

Options :
The University Court /Senate
91394353593. :

1394353504 LEPartmental Council

Board of Studies
91394353595,

Academic Council
91394353596,
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IRd 1 3=a foren deenedi # frefatad § § foaas steaaHil & Ueashdl 991 wrishHl o SFTHE &l
3feR W 2

| favafaared &le/dHe

91334553593,

2915942535594, ﬁ | H :\

AT HeEdA

91334553585,

H13345535596. ;\
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To improve access and quality in higher education, the Knowledge Commission
recommendations include which of the following ?

(a) Use of ICT for production of knowledge
(b) Closure of non-performing Universities in the country
(c) Establishment of a network of institutions of higher learning

(d) Increase in the enrolment of students in the institutions of higher learning
Code :

Options :

(a), (b), (c) only

913345535397,

(a), (b), (d) only

91394353598,
91394353599, (a), (c), (d) only

(), (b), (¢), (d)

91334553600,
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=3 foeq | stfamegan qen e § gUR @ % fau 99 A & fEtated § 9 A S
ftaferd g2

(a) I IedTed &q .G, 3w

(b) <9 H oI1eA - e favafaamerdi & sig FT

(c) T=d SATTH &I UL o Teh 2eeh hi T

(d) = Aferr =1 Hrnsti § fenfeai & usio § gfg

Options :

%ad (a), (b), (c)

291334253597,

Fad (a), (b), (d)

91334353598,

Fad (a), (c), (d)

91334553599,

s1394353600. (@) (D), (), (d)
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